MATH 2040 Lecture 23 (12121 2018)

§ Exiﬁe/uce o-F Jorden coawnonical basig
Recall: Givery T:V = V. F2C , diwmV <o,

V = K;\‘ @ - @ K,'\k

@ = Vv v PK
TheovM! Eack 5enerai.-z.ed ec‘su‘;—Paa K;‘ has a basis
CAnﬂS‘h‘nj of unjon of "cvdes» of +he Form

= (T=aD)"™v oo (T=2T) v . v ]

"—W
mitral v ecto, end vector
€ Eﬁ
21,0 o
h - | ~D A “ AI = l
M) A o



1'—’{( ~AI)P-‘v . (T=2T) v, "5

‘ﬂ / / AR

“;\I) v, L T=2T) v 7)

Lewamwa : Su‘,‘,ou we hevg a Oellegivon d* c:,dlt ) Kﬁ e

T, = { (T-aD%y,, 2D v, v, ]

- L'y |
T = {( <A Vor ( -'z\I)vh.vh))

Ea
TkM. “‘ = Tio..0Tp s L‘nut) mh@..’
Pﬁ: Toductionn om \ T\ := % eleosmts ia 7
« \Tl= 1 : €naal
© Biteme WoNds or [TV € n-l,
bt 1T =n, 1 v

Defne W = S‘muT . Not: . dim W €9
W s (T-27) athvartant |

Restuet 4 operater Ko = K,



U:= -AI‘ w—a‘,::
wnEa — O

Obsewe: R(U) = spom

7,‘ = {( ~?\I)P."v., e, (T=2T) y, 'l) Q

'

qd =

v = {( ~;\1)"'vh, e T2y, ) )

= |¥lzn=-k <n

““&l‘*"ﬁ\q |
— 5 L tndep. =D |d.-mk(u) =n-k. ‘
k-gpd"ﬂn'i

So., \&'MNUK) 2 k \

Ru\\?‘t.o - Nq\“ﬂ'., Thwm =
n 3 dimW = dim R(U) « dia N (W) 2 M

" WV
n-k k

D dim\W=n .




PNO{‘ of The on A o« basis mﬁrf.'.:’ ot cyeles :

Tuduction on dim K A= n.

« nzl: Ko = Eo clear !
© Astame Watds for dim Ky g -t .

" Now, ?M“ou ™ Ka =nN.

WU:= -ﬁl\k‘Ka—'KA
a

Cousider W = R(U) € Ka (U -ine.)
Svee N(W) = E;\‘-t o > RW =K,
Stzlu’w : W — W

“}f\a nduchen k"M’ = W =R(.u) has a bas's
uusisﬂa} of wuiee o o,da-s

T = 7c°1;U'"UT$ for W

(rike Haivg ot ve) ex?\%‘c"“*):



T = R(U) = R(T-21)

- U
V= ¥ = {(T-')\‘I)?'.'V]..--. vi ol
U

{(T-ﬁlfa.‘vm. ee o V2 O (W'}

T, T‘; = {(T'An&q"k o Vm‘ﬁ: i

Tt
Cloiw : 1 U 7

=)
™
(1]
S
"

1S o basir for K',\

BT i A ey
Eq  (Liindey) by Levems

Chesk: | T'| = dimKa =0

?ﬁ_’ \" | = diw W = dom R(w) =

v
owd \Yl‘ m+Gerr ... “n

Rﬁak-“u“&j Qm u : KA - KA

ne dimK, = dinNW) + ﬁw\ R(U) = meger
dina Eﬁ dive W

(1] ('}

1-&\# m




